11.

13.

15.

17.

( Adding Integers >

93 +(-28) =

79 + (-46) =

72+ (-12)=

(-8) + 50 =

84 + (20) =

(-69) + 15 =

(-28) + (-18) =

28 + (-16) =

(-99) + (-12) =

Find the sum.

2.

10.

12.

14.

16.

18.

(-14) + (-43) =

(-82) + (-43) =

(-32) + 48 =

(-12) + (-24) =

74 + 87 =

0+ (-121)=

98 + (-101) =

(-65) + (-12) =

101 + (-61) =



11.

13.

15.

17.

( Adding Integers )

93 + (-28) = 65
79 + (-46) = 33
72 + (-12) = 60
(-8) + 50 = 42

84 + (-20) = 64

(-69) + 15 = -54

(-28) + (-18) = -46

28 + (-16) = 1

(-99) + (-12) = -111

Answers

2. (-14) + (-43) = -57

4 (-82) + (-43) = -125

6. (-32) +48=-28

8. (-12) + (-24) = -36

10. 74 + 87 = 161

12. 0 + (-121) = -121

14. 98 + (-101) = -3

16. (-69) + (-12) = -77

18. 101 + (-61) = 40



